| 600 50 250 10|33 [130]200] 5 | 2 | 25 public void sort(){
0 1 2 3 4 5 6 7 8 9 10 11 12 int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[l]= data[size];
size--;
siftDown(1);
keys[size+1l]= tmpKey;
data[size+1]= tmpData;

Size =10




| 600 50 250 10|33 [130]200] 5 | 2 | 25 public void sort(){
0 1 2 3 4 5 6 7 8 9 10 11 12 int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[1l];
keys[1]= keys[size];
data[l]= data[size];
size--;
siftDown(1);
keys[size+1l]= tmpKey;
data[size+1]= tmpData;

Size =10
tempKey = 600
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public void sort(){

int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[1l]= data[size];
size--;
siftDown(1);
keys[size+l]= tmpKey;
data[size+1]= tmpData;

Size =10
tempKey = 600
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public void sort(){

int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[1l]= data[size];
size--;
siftDown(1);
keys[size+l]= tmpKey;
data[size+1]= tmpData;

Size=9
tempKey = 600
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public void sort(){

int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[1l]= data[size];
size--;
siftDown(1);
keys[size+l]= tmpKey;
data[size+1]= tmpData;

Size=9
tempKey = 600
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public void sort(){

int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[1l]= data[size];
size--;
siftDown(1);
keys[size+l]= tmpKey;
data[size+1]= tmpData;

Size=9
tempKey = 600
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public void sort(){

int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[1l]= data[size];
size--;
siftDown(1);
keys[size+l]= tmpKey;
data[size+1]= tmpData;

Size=9
tempKey = 600
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public void sort(){

int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[1l]= data[size];
size--;
siftDown(1);
keys[size+l]= tmpKey;
data[size+1]= tmpData;

Size=9
tempKey = 600
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public void sort(){

int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[1l]= data[size];
size--;
siftDown(1);
keys[size+1l]= tmpKey;
data[size+1l]= tmpData;

Size=9
tempKey = 600




250 50 200 ] 1033 |10 25 | 5 | 2 O public void sort(){
0 1 2 3 4 5 6 7 8 9 10 11 12 int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[1l];
keys[1]= keys[size];
data[l]= data[size];
size--;
siftDown(1);
keys[size+1l]= tmpKey;
data[size+1]= tmpData;

Size =9
tempKey = 250
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public void sort(){

int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[1l]= data[size];
size--;
siftDown(1);
keys[size+l]= tmpKey;
data[size+1]= tmpData;

Size=9
tempKey = 250
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public void sort(){

int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[1l]= data[size];
size--;
siftDown(1);
keys[size+l]= tmpKey;
data[size+1]= tmpData;

Size=8
tempKey = 250
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public void sort(){

int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[1l]= data[size];
size--;
siftDown(1);
keys[size+l]= tmpKey;
data[size+1]= tmpData;

Size=8
tempKey = 250
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public void sort(){

int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[1l]= data[size];
size--;
siftDown(1);
keys[size+l]= tmpKey;
data[size+1]= tmpData;

Size=8
tempKey = 250
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public void sort(){

int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[1l]= data[size];
size--;
siftDown(1);
keys[size+l]= tmpKey;
data[size+1]= tmpData;

Size=8
tempKey = 250
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public void sort(){

int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[1l]= data[size];
size--;
siftDown(1);
keys[size+l]= tmpKey;
data[size+1]= tmpData;

Size=8
tempKey = 250
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public void sort(){

int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[1l]= data[size];
size--;
siftDown(1);
keys[size+1l]= tmpKey;
data[size+1l]= tmpData;

Size=8
tempKey = 250




20050 130 0 33| 2 | 25 | 5 EENCL public void sort(){
0 1 2 3 4 5 6 7 8 9 10 11 12 int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[1l];
keys[1]= keys[size];
data[l]= data[size];
size--;
siftDown(1);
keys[size+1l]= tmpKey;
data[size+1]= tmpData;

Size =8
tempKey = 200
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public void sort(){

int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[1l]= data[size];
size--;
siftDown(1);
keys[size+l]= tmpKey;
data[size+1]= tmpData;

Size=8
tempKey = 200




HEEEIEIFIEIEEEE 5 =0 « public void sort()q{
0 1 2 3 4 5 6 7 8 int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[l]= data[size];
size--;
siftDown(1);
keys[size+1l]= tmpKey;
data[size+1]= tmpData;

9 10 11 12

Size=7
tempKey = 200



HEEIEIFNEIENES 5 =0 o public void sort()q{
0 1 2 3 4 5 6 7 8 int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[l]= data[size];
size--;
siftDown(1l);
keys[size+1l]= tmpKey;
data[size+1]= tmpData;

9 10 11 12

Size=7
tempKey = 200



BHEIEIERENEIENES s =0 o public void sort(){
0 1 2 3 4 5 6 7 8 int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[l]= data[size];
size--;
siftDown(1l);
keys[size+1l]= tmpKey;
data[size+1]= tmpData;

9 10 11 12

Size=7
tempKey = 200



HEIEIEEIEIEEEE 5 =0 « public void sort()q{
0 1 2 3 4 5 6 7 8 int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[l]= data[size];
size--;
siftDown(1l);
keys[size+1l]= tmpKey;
data[size+1]= tmpData;

9 10 11 12

Size=7
tempKey = 200



EEIEIEIENEIENEE 5 =0 o public void sort(){
0 1 2 3 4 5 6 7 8 int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[l]= data[size];
size--;
siftDown(1l);
keys[size+1l]= tmpKey;
data[size+1]= tmpData;

9 10 11 12

Size=7
tempKey = 200
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public void sort(){

int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[1l]= data[size];
size--;
siftDown(1);
keys[size+1l]= tmpKey;
data[size+1l]= tmpData;

Size=7
tempKey = 200




(O EER T S R R 200 250 600 public void sort(){
0 1 2 3 4 5 6 7 8 9 10 11 12 int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[1l];
keys[1]= keys[size];
data[l]= data[size];
size--;
siftDown(1);
keys[size+1l]= tmpKey;
data[size+1]= tmpData;

Size=7
tempKey = 130



OO RN T R ] 200 250 600 public void sort(){
0 1 2 3 4 5 6 7 8 9 10 int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[1l]= data[size];
size--;
siftDown(1);
keys[size+1l]= tmpKey;
data[size+1]= tmpData;

11 12

Size=7
tempKey = 130



DR ETERET s 200 250 600 public void sort(){
0 1 2 3 4 5 6 7 8 9 10 int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[l]= data[size];
size--;
siftDown(1);
keys[size+1l]= tmpKey;
data[size+1]= tmpData;

11 12

Size=6
tempKey = 130



DOERERERETENED s 200 250 600 public void sort(){
0 1 2 3 4 5 6 7 8 9 10 int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[l]= data[size];
size--;
siftDown(1l);
keys[size+1l]= tmpKey;
data[size+1]= tmpData;

11 12

Size=6
tempKey = 130



OCERERC EERER s 200 250 60 public void sort(){
0 1 2 3 4 5 6 7 8 9 10 int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[l]= data[size];
size--;
siftDown(1l);
keys[size+1l]= tmpKey;
data[size+1]= tmpData;

11 12

Size=6
tempKey = 130



DAETERETEDIERET s 200 250 600 public void sort(){
0 1 2 3 4 5 6 7 8 9 10 int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[l]= data[size];
size--;
siftDown(1l);
keys[size+1l]= tmpKey;
data[size+1]= tmpData;

11 12

Size=6
tempKey = 130



DOETERE ETERET s 200 250 60 public void sort(){
0 1 2 3 4 5 6 7 8 9 10 int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[l]= data[size];
size--;
siftDown(1l);
keys[size+1l]= tmpKey;
data[size+1]= tmpData;

11 12

Size=6
tempKey = 130



R E RN 200 250 60 public void sort(){
0 1 2 3 4 5 6 7 8 9 10 int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[l]= data[size];
size--;
siftDown(1);
keys[size+l]= tmpKey;
data[size+1l]= tmpData;

11 12

Size=6
tempKey = 130



R T R 10 200 250 600 public void sort(){
0 1 2 3 4 5 6 7 8 9 10 11 12 int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[1l];
keys[1]= keys[size];
data[l]= data[size];
size--;
siftDown(1);
keys[size+1l]= tmpKey;
data[size+1]= tmpData;

Size =6
tempKey = 50
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public void sort(){

int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[1l]= data[size];
size--;
siftDown(1);
keys[size+1]= tmpKey;
data[size+1]= tmpData;

Size =6
tempKey =50
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public void sort(){

int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[1l]= data[size];
size--;
siftDown(1);
keys[size+1]= tmpKey;
data[size+1]= tmpData;

Size=5
tempKey =50
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public void sort(){

int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[1l]= data[size];
size--;
siftDown(1);
keys[size+l]= tmpKey;
data[size+1]= tmpData;

Size=5
tempKey =50
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public void sort(){

int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[1l];
keys[1]= keys[size];
data[1l]= data[size];
size--;
siftDown(1);
keys[size+l]= tmpKey;
data[size+1]= tmpData;

Size=5
tempKey =50
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public void sort(){

int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[1l]= data[size];
size--;
siftDown(1);
keys[size+l]= tmpKey;
data[size+1]= tmpData;

Size=5
tempKey =50




SRR ¢ w0 o s
0 1 2 3 4 5 6 7 8 9 10

11

12

public void sort(){

int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[1l];
keys[1]= keys[size];
data[1l]= data[size];
size--;
siftDown(1);
keys[size+l]= tmpKey;
data[size+1]= tmpData;

Size=5
tempKey =50




O R T 50 200 250 600

11
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public void sort(){

int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[1l]= data[size];
size--;
siftDown(1);
keys[size+1]= tmpKey;
data[size+1]= tmpData;

Size=5
tempKey =50




-Emnﬂ 50 130 200 250 600 public void sort(){
0 1 2 3 4 5 6 7 8 9 10 11 12 int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[1l];
keys[1]= keys[size];
data[l]= data[size];
size--;
siftDown(1);
keys[size+1l]= tmpKey;
data[size+1]= tmpData;

Size=5
tempKey =33



FIEEIEIEN 5 50 10 20 20 600 public void sort(){
0 1 2 3 4 5

int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[1l]= data[size];
size--;
siftDown(1);
keys[size+l]= tmpKey;
data[size+1]= tmpData;

6 7 8 9 10 11 12

Size=4
tempKey =33



FEEIEIEE 5 0 0 20 20 60 public void sort(){
0 1 2 3 4 5

int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[1l]= data[size];
size--;
siftDown(1);
keys[size+l]= tmpKey;
data[size+1]= tmpData;

6 7 8 9 10 11 12

Size=4
tempKey =33



FEDIEREY s s 30 20 20 600 public void sort(){
0 1 2 3 4 5

int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[1l]= data[size];
size--;
siftDown(1);
keys[size+l]= tmpKey;
data[size+1]= tmpData;

6 7 8 9 10 11 12

Size=4
tempKey =33
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public void sort(){

int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[1l]= data[size];
size--;
siftDown(1);
keys[size+1]= tmpKey;
data[size+1]= tmpData;

Size=4
tempKey = 33




-Enn 33 50 130 200 250 600 public void sort(){
0 1 2 3 4 5

6 7 8 9o 10 11 12 int n= size;

for(int i= 1; 1 < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[1l]= data[size];
size--;
siftDown(1l);
keys[size+l]= tmpKey;
data[size+1]= tmpData;

Size=4
tempKey = 25



FIEREIEEEY = 0 10 20 250 600 public void sort(){
0 1 2 3 4 5

int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[1l]= data[size];
size--;
siftDown(1);
keys[size+l]= tmpKey;
data[size+1]= tmpData;

6 7 8 9 10 11 12

Size=4
tempKey = 25



-nﬂ 2 33 50 130 200 250 600 public void sort(){
0 1 2 3 4

int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[1l]= data[size];
size--;
siftDown(1);
keys[size+l]= tmpKey;
data[size+1]= tmpData;

5 6 7 8 9 10 11 12

Size =3
tempKey = 25



-n“ 2 33 50 130 200 250 600 public void sort(){
0 1 2 3 4

int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[1l]= data[size];
size--;
siftDown(1);
keys[size+l]= tmpKey;
data[size+1]= tmpData;

5 6 7 8 9 10 11 12

Size=3
tempKey = 25



-nﬂ 2 33 50 130 200 250 600 public void sort(){
0 1 2 3 4

5 6 7 8 9 10 11 12 int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[1l]= data[size];
size--;
siftDown(1);
keys[size+1l]= tmpKey;
data[size+l1l]= tmpData;

Size =3
tempKey = 25



-mnﬂﬂ 33 50 130 200 250 600 public void sort(){
0 1 2 3 4 5

int n= size;

for(int i= 1; 1 < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[1l]= data[size];
size--;
siftDown(1l);
keys[size+1l]= tmpKey;
data[size+1l]= tmpData;

6 7 8 9 10 11 12

Size =3
tempKey = 25



-mnﬂ 25 33 50 130 200 250 600 public void sort(){
0 1 2 3 4

5 6 7 8 9 10 11 12 int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[1l]= data[size];
size--;
siftDown(1);
keys[size+l]= tmpKey;
data[size+1]= tmpData;

Size =3
tempKey = 10



-“nﬂ 25 33 50 130 200 250 600 public void sort(){
0 1 2 3 4

int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[1l]= data[size];
size--;
siftDown(1);
keys[size+l]= tmpKey;
data[size+1]= tmpData;

5 6 7 8 9 10 11 12

Size =3
tempKey = 10



-ﬂn 5 25 33 50 130 200 250 600 public void sort(){
0 1 2 3

int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[1l]= data[size];
size--;
siftDown(1);
keys[size+l]= tmpKey;
data[size+1]= tmpData;

4 5 6 7 8 9 10 11 12

Size =2
tempKey = 10



-“n 5 25 33 50 130 200 250 600 public void sort(){
0 1 2 3

4 5 6 7 8 9 10 11 12 int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[1l]= data[size];
size--;
siftDown(1);
keys[size+1l]= tmpKey;
data[size+l1l]= tmpData;

Size =2
tempKey = 10



-ﬂn 5 25 33 50 130 200 250 600 public void sort(){
0 1 2 3

int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[1l]= data[size];
size--;
siftDown(1);
keys[size+l]= tmpKey;
data[size+1]= tmpData;

4 5 6 7 8 9 10 11 12

Size =2
tempKey = 10



-ﬂn G 25 33 50 130 200 250 600 public void sort(){
0 1 2 3 4

int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[1l]= data[size];
size--;
siftDown(1);
keys[size+1l]= tmpKey;
data[size+1l]= tmpData;

5 6 7 8 9 10 11 12

Size =2
tempKey = 10



-ﬂn 10 25 33 50 130 200 250 600 public void sort(){
0 1 2 3

4 5 6 7 8 9 10 11 12 int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[1l]= data[size];
size--;
siftDown(1);
keys[size+l]= tmpKey;
data[size+1]= tmpData;

Size =2
tempKey =5



-nn 10 25 33 50 130 200 250 600 public void sort(){
0 1 2 3

4 5 6 7 8 9 10 11 12 int n= size;

for(int i= 1; i < n; i++){
int tmpKey= keys[1];
T tmpData= data[l];
keys[1]= keys[size];
data[1l]= data[size];
size--;
siftDown(1);
keys[size+1l]= tmpKey;
data[size+l1l]= tmpData;

Size =2
tempKey =5



-n 2 10 25 33 50 130 200 250 600 public void sort(){

0 1 2 3 4 5 6 7 8 9 10 1 12 int n= size;
for(int i= 1; 1 < n; i++){
int tmpKey= keys[1];
0 T tmpData= data[1l];

keys[1]= keys[size];
data[l]= data[size];
size--;

siftDown(1);
keys[size+l]= tmpKey;
data[size+l1l]= tmpData;

Size=1
tempKey =5



-n 2 10 25 33 50 130 200 250 600 public void sort(){

0 1 2 3 4 5 6 7 8 9 10 1 12 int n= size;
for(int i= 1; 1 < n; i++){
int tmpKey= keys[1];
a T tmpData= data[1l];

keys[1]= keys[size];
data[l]= data[size];
size--;

siftDown(1l);
keys[size+l]= tmpKey;
data[size+l1l]= tmpData;

Size=1
tempKey =5



-n“ 10 25 33 50 130 200 250 600 public void sort(){
0 1 2 3

4 5 6 7 8 9 10 11 12 int n= size;
for(int i= 1; i < n; i++){
int tmpKey= keys[1];
° T tmpData= data[l];

keys[1]= keys[size];
data[1l]= data[size];
size--;

siftDown(1);
keys[size+1l]= tmpKey;
data[size+1l]= tmpData;

Size=1
tempKey =5



-n 5 10 25 33 50 130 200 250 600 public void sort(){

0 1 2 3 4 5 6 7 8 9 10 1 12 int n= size;
for(int i= 1; 1 < n; i++){
int tmpKey= keys[1];
0 T tmpData= data[1l];

keys[1]= keys[size];
data[l]= data[size];
size--;

siftDown(1);
keys[size+l]= tmpKey;
data[size+l1l]= tmpData;

Size=1
tempKey =5



